FTH2EE XBEERITINR

FHES AR % 5A% 6A % 7%
XA | XHERE | IHAN | X HEE | I HHH | I8 | X HEH| X HE4E
1|BE (TR, £7E) 5| 50,000 1| 10,000 1| 10,000 5| 96,400
2(ME (2. &) 1 4,660 2| 10,054
IRE (. &)
MFEITE(2ESE) 1 1,000
5| et (B hE. BEEF) 1| 10,000
a&t 6| 54660 2| 20,000 1| 10,000 8| 107,454
THES 8A % 9AH 108 % 1A%
XA | XHERE | IHA S| XHEE | I HHH | IHEE | X HEH | XHE%E
1|BE(FHR, &£7E)
21fE (£, &) 1 4,580 1 5,027 5| 28590 2| 14610
| RE(£. &) 1| 10,000
4FETE(RESE) 1 5,000
5|zt (i hE. BEEF) 2 4,932
= 3 9,512 1 5,027 5| 28590 4| 29610
FHES 12A4 1A% 2% 3% FEEE
XHHH|(XHELE | XHEGM| XHEEE | IHGH| IHEE | IHEH| IHEEE| IHEH| XHEEE
1|HE(FH, £7E) 3| 30,000 15| 196,400
2|1E (£, M) 5| 39597 4| 18440 2 9,597 23| 135,155
| RE(£. M) 1 10,000
4FETE(RESE) 2 6,000
5| ZDfth (i h&. HEFH) 1] 11,059 1| 65000 5 90,991
a&t 9| 80656 4| 18440 0 0 3| 74597 46 | 438,546




